
CBSE	NCERT	Solutions	for	Class	6	mathematics	Chapter	7

Exercise	7.1

Q.1. Write	the	fraction	representing	the	shaded	portion.

	
24

Solution:

The	given	figure	is	divided	into	four	equal	parts	out	of	which	two	parts	have	been	shaded.

∴	Total	number	of	triangles	=4	Total	number	of	shaded	triangles	=2	We	know	that,	a	fraction	is	a	number
representing	part	of	a	whole.	Here,	the	numerator	represents	the	number	of	shaded	parts.	The	denominator	represents
the	number	of	equal	parts	that	make	up	a	whole.	Therefore,	the	required
fraction		=Total	number	of	shaded	trianglesTotal	number	of	triangles=24	Hence,	the	required	fraction	is	24.

Q.2. Write	the	fraction	representing	the	shaded	portion.

89

Solution: We	know	that	a	fraction	is	a	number	representing	part	of	a	whole.

Here,	the	numerator	represents	the	number	of	parts	shaded.	The	denominator	represents	the	number	of	equal	parts
into	which	the	whole	figure	has	been	divided.

Therefore,	the	required	fraction		=Number	of	parts	shadedTotal	number	of	equal	parts	The	given	figure	is	divided
into	nine	equal	parts	out	of	which	eight	parts	have	been	shaded.	∴	Total	number	of	boxes	=9	Total	number	of	boxes
shaded	=8	Therefore,	the	required	fraction	=Total	number	of	boxes	shadedTotal	number	of	boxes=89	Hence,	the
required	fraction	is	89.
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